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Question Number : 1 Question Id : 7715134296 Question Type : MCQ Option Snurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

B A & 9 & R, Wt W B L gl iy
For a good quality brazing, the molten filler alloy should have

2)  YUYq & WY Fg WG BIWLow contact angle with the base metal
b) g TILow density

¢) o § aidHigh surface tension

d) 9« wrdlHigh viscosity

Options :
1.a
2.b
3.cC
4.d

Question Number : 1 Question Id : 7715134296 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

B A & 0 & R, et W/ B L gl iy
For a good quality brazing, the molten filler alloy should have

2) O & WY W BILow contact angle with the base metal
b) 19 TILow density

¢) o U§ ddHigh surface tension

d) @ WHdHigh viscosity

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134297 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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&1 TR W o1l B & 9 o o, eV, 31 50 AR, 100 . ¥ g v o
3R 31 100 i, 89 & 25 P, 217 1 o 80 T . el o e ¢, 1
1 37 e iy

During tuming of a metallic rod at a given condition, the tool life was found to
decrease from 100 min to 25 min when V. was increased from 50 m/min to
100m/min. How much will be life of tool if machined at 80m/min?

a) 38.06 /min b) 39.06 1 /min
c) 40.06 f/min d) 41.06 fF/min

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134297 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

&R TRt 7 a9 @ o SR, 99 Vi 1 50 AR 3 100 A, ¥ g T 7
TR 319 100 7, 992 68 25 i, g1 ot e 80 e, o i ovan o1 6, o
1 3 el g

During tuming of a metallic rod at a given condition, the tool life was found to
decrease from 100 min to 25 min when V. was increased from 50 m/min to
100m/min. How much will be life of tool if machined at §0m/min?

a) 38.06 fi/min b) 39.06 i /min
c) 40.06 & ./min d) 41.06 f./min

Options :
1.a
2.b
3.C
4.d

Question Number : 3 Question Id : 7715134298 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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DIATHET . ......... & faU $™ IUER ulkdr §
Ageing is a heat treatment operation for

a) Uidga @I &H @-/Relieving of stress

b) UMY HI de/Increasing strength

¢) UMW &I ®H H/Reducing strength

d) HRAHEAl URA/Improving machinability

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134298 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

DIATHET . ......... & fiU $™1 IUER kT §
Ageing is a heat treatment operation for

a) Ufdgd @I &H @-/Relieving of stress

b) UMY $I de/Increasing strength

¢) UMW &I ®H PH/Reducing strength

d) HRAHEAl URA/Improving machinability

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134299 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9 J@l ¥ U 9H-T1 AReTBe WRIBRT ol 82

Which of these elements is not an austenite stabilizer

a)  ®Ie-/Carbon b) HTHE/Manganese
¢) Mdd/Nickel d) IfEEH/Chromium
Options :

1.a

2.b

3.¢C
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4.d

Question Number : 4 Question Id : 7715134299 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9 J@l ¥ U 9H-T1 AReTBe WRIBRT ol 82

Which of these elements is not an austenite stabilizer

a)  ®Ie-/Carbon b) HTHE/Manganese
¢) F&d/Nickel d) HIFEH/Chromium

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134300 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

urget & 9@ HH H, fawaor (... L. gl B

In hot working of metals, the deformation is carried out

a) UA: fheeciidRul diyHH & Hid/Below the recrystallization temperature
b) U fhieciidRul dIUAM & HU/Above the recrystallization temperature
c) Tdd dUHMF YYAt melting temperature

d) ®§ 303 K d9HH W/At temperature around 303 K

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134300 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

urgefl & d HHU o, faEgu ... Bidl &

In hot working of metals, the deformation is carried out

a) U fheedioru dueaH & Fid/Below the recrystallization temperature
b) T Theeclidru dUHH & HU/Above the recrystallization temperature
c) Tdd dUHME GYUAt melting temperature

d) @ddd 303 K dIUHE T/At temperature around 303 K
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Options:
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134301 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fg-e HoRdl J& (@lwaw) ... ... .. @1 U ©

Brinell hardness number (BHN) is the ratio of

a) Cqdl @ &7 ¥ §ld W YR /Area of indentation to load on ball
b) did W HR ¥ dld ®I &7 /Load on ball to area of ball

c) §id W YR Y Sl & &F / Load on ball to area of indentation
d) &qidl & fd@ui/Diagonal of indentation

Options :
1.a
2.b
3.cC
4.d

Question Number : 6 Question Id : 7715134301 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fo-d DoRdl e (@) ... @1 UM &

Brinell hardness number (BHN) is the ratio of

a) GQidl & &7 ¥ §id W HR /Area of indentation to load on ball
b) did W YR ¥ did @I &4 /Load on ball to area of ball

c) g W HR 9 E@?IT @ &7 / Load on ball to area of indentation
d) S@dl & fd@vi/Diagonal of indentation

Options :
1.a
2.b

3.¢C
4.d

Question Number : 7 Question Id : 7715134302 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fFefafed § € foU ded ufp § <" a0 UWIidd &7 (HAZ) TG 82

Which one of the following welding processes consists of minimum heat affected zone
(HAZ)?

a) ifced o o desd (THUAUSSY) /Shielded Metal Arc Welding (SMAW)
b) W fBU-Ua d@A (Tedigsey) Laser Beam Welding(LBW)

¢) WA ded (qu¥esy) Ultrasonic Welding(USW)

d) o fhg Y deed (UHSASl) Metal Inert Gas Welding (MIG)

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134302 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofaféa © ¢ fg deq ufpa & <on v ovifad 83 (HAZ) i 2o

Which one of the following welding processes consists of minimum heat affected zone
(HAZ)?

=+

Tifcsd o1q od deed (TgUHTEs) /Shielded Metal Arc Welding (SMAW)
W foRU-Ud desd (Uddissy) /Laser Beam Welding(LBW)

Ry deed (JUESsy) /Ultrasonic Welding(USW)

YTq iy 19 dwed (THAZH) /Metal Inert Gas Welding (MIG)

=

[= P -
et

Options :
1.a
2.b
3.C
4.d

Question Number : 8 Question Id : 7715134303 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

.............. B gR1 Td URRIY T den (eRST) @ UReed fbdn ol 8

Pitting Resistance Equivalent Number (PREN) is calculated by the formula

a) %Cr+ 3.3 %Mo+ 16 %N
) %Cr+ 3.3 %Ni+ 16 %Mo

c)  %Cr+3.3 %Mo+ 16 %Ni
)

d)  %Cr+3.3 %N+ 16 %Mo

L=
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Options:
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134303 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

.............. il GR1 T Wioky 37 B (WeRE) @1 URdeH foar & &

Pitting Resistance Equivalent Number (PREN) is calculated by the formula

a) %Cr+3.3 %Mo+ 16 %N

)
) %Cr+ 3.3 %Ni+ 16 %Mo
)
)

=

C %Cr + 3.3 %Mo + 16 %Ni

%Cr 1+ 3.3 %N + 16 %Mo

j= 9

Options:
1.a
2.b
3.¢
4.d

Question Number : 9 Question Id : 7715134304 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofafag § ¥ $9-91 I faamT 8-

Which one among the following is sacrificial coating.

a) 3Wd W FHdd wed/Nickel plating on Steel
b) UQGMMTH &1 THifls® fdcitd/Anodic coating of aluminum

c) W W HSHTY ed/Cadmium plating on steel
d) 39 W Ui faeud/Epoxy coating on steel
Options:
1.a
2.b
3.C
4.d

Question Number : 9 Question Id : 7715134304 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fofafga § ¥ @H-91 3o fGau 8-
Which one among the following is sacrificial coating.
a) 3Wd W Hdd wed/Nickel plating on Steel
b) UGMMTH &1 THifed faciua/Anodic coating of aluminum
c) THMH W $SHH Ted/Cadmium plating on steel
d) 3Wd W U faeu/Epoxy coating on steel
Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134305 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

DH-U HIGH, S IWER oM@ H fd TR TH g

Which media will give most severe quenching in heat treatment operation
a) dd HF/0il quenching

b)  ©d THA/Water quenching

c) Wd HT & UIY H&lH/Water quenching with agitation
d)  dUl-9Id YHA/Brine quenching

Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134305 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

DH-G HIGH, SW IWER @ H 3 9HR TEE g

Which media will give most severe quenching in heat treatment operation
a) dd ¥HF/0il quenching

b)  ©d THA/Water quenching

c) W9 WHF & Y H&liH/Water quenching with agitation
d)  TdU-9d HA/Brine quenching

Options :
1.a
2.b
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3.C
4.d

Question Number : 11 Question Id : 7715134306 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e A w9 # ST @ 94, $da, ffier, Mae, wmma@mm
Td uiie @ Yun & I fihe WoR o1 R & o wgw ek ...

For establishing a best fit feature for a number of points measured on a feature lll{e circle,
plane, cylinder, sphere, line etc. using a co- ordinate measuring machine, the principle used

a) IAd9 @ fGGid/Least squares principle
b) Ud Rigid/Abbe principle

¢) <R fgid/Taylors principle

d) 99 ¥ I3 T8'None of these
Options :

1.a

2.b

3.C

4.d

Question Number : 11 Question Id : 7715134306 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFexe Ad 9efF @1 ST W g4, THda, Rfder, ide, waﬂﬁma{@ﬁ@rm
it Uise &1 Te & I fihe UBR & ®IGA & fow W figid ...

For establishing a best fit feature for a number of points measured on a feature llke circle,
plane, cylinder, sphere, line etc. using a co- ordinate measuring machine, the principle used
is

a) Ia @ f4Gid/Least squares principle

) U4 fGgid/Abbe principle

) U Rgid/Taylors principle

) 399 U @15 Ta/None of these

Options :

[T o T e

1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134307 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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& A i (B w38 9 e 7, g drer 10700400 f . od G5 @R 10
010020 f Y, B g Sl fhe H Yued AR I AfpaH AH L. g

In a fit of two mating parts (hole and shaft), the hole size is 10710020 mm and shaft size is
10-010-0.20 mm, The maximum value of possible clearance in this clearance fit is

a) 0.20 .41, /mm b) 0.10 .5, /mm
¢) 0.0 1.4t /mm d) 398 ¥ @5 81/None of these

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134307 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a AT i (fB% W dE) o fiee 7, g deR 10:00400 f . ud G5 MR 10
010020 A g1 39 ARl e # der Aqweh o1 SHfidan AT ... g

In a fit of two mating parts (hole and shaft), the hole size is 10719020 mm and shaft size is
10-010-0:20 mm, The maximum value of possible clearance in this clearance fit is

a) 020 .. /mm b) 0.10 .. /mm
¢) 0.0 .4t /mm d) 378 ¥ @5 Te1/None of these

Options :
1.a
2.b
3.cC
4.d

Question Number : 13 Question Id : 7715134308 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%EMWWWWWWQEWﬂWaﬁ%’, Gl

The operation in which lubricant material is permeated into the pores of a powder
metallurgy product is known as

a)  BYMixing b) Rfcx/Sintering
¢) UUdHImpregnation d) Sid-¥eT/Infiltration
Options :

1.a
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2.b
3.C
4.d

Question Number : 13 Question Id : 7715134308 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%Emmﬁﬁﬁﬁwﬁwmﬁﬁfmﬂ?ﬁéﬁfﬂﬁﬁwﬁ%ﬂaﬁ ........ Fed

The operation in which lubricant material is permeated into the pores of a powder
metallurgy product is known as

a)  f#3U/Mixing b) feT/Sintering
¢) U¥d/Impregnation d) Sid-¥eT/Infiltration

Options :
1.a
2.b
3.cC
4.d

Question Number : 14 Question Id : 7715134309 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YR tof $ A § o e fawad R ... g

The theory of failure generally applied in case of brittle materials is

a) YDA AUFEYY Yided Fgid/Maximum Shear Stress Theory

b) difibdd g7 Uided fgid/Maximum Principal Stress Theory

c) dffmad fdgfd ol fgid/Maximum Strain Energy Theory

d) HfUbdd HTFYU faPpld el fiGid /Maximum Shear Strain Energy Theory

Options :
1.a
2.b
3.C
4.d

Question Number : 14 Question Id : 7715134309 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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YR Terdl & AP # YR Sfugad fdead g

The theory of failure generally applied in case of brittle materials is

a) DA AUV Yided Rigid/Maximum Shear Stress Theory
by ffYhan FB7 Wfded fgid/Maximum Principal Stress Theory

¢c) 3Mfidan faPpfd Bl fgid/Maximum Strain Energy Theory

d) offiedy sweu foefd el fiEid /Maximum Shear Strain Energy Theory

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 15 Question Id : 7715134310 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR B WaeH ¥ FEfed 8§ 4 9F-11 96 T8 o2

In a laser cutting operation, which of the following is not true?

a) foU @ @ ¢ & U oW o M Vv AW AT & WY 9ed §
Laser cutting speed ‘V’ increases with Laser power for a given job thickness‘t’
b) dfdd AW W & Fy AR Y B FAE A H Prer o FHl @
With increased laser power, thicker material can be cut at same speed.
c) BRI @ WW ¥ BT T8 o FharDiamonds can’t be cut by lasers.
d) Ioid ®H & Iy BY Bidd DR DI o Jdbd &

Straight cut edges with sharp corners can be cut

Options :
1.a
2.b
3.cC
4.d

Question Number : 15 Question Id : 7715134310 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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TR B WaeH ¥ FEfed § ¥ 9F-91 96 T8 o0

In a laser cutting operation, which of the following is not true?

a) foU @ @ ¢ & U oW b M V' AW AT & WY 9ed §
Laser cutting speed ‘V’ increases with Laser power for a given job thickness‘t’

b) Fffd dWm Widg & Gy O we & TEE T O el o 9%dl &

With increased laser power, thicker material can be cut at same speed.
c) ©RI @ WW ¥ BT T8 o harDiamonds can’t be cut by lasers.
d) o BHI & WY FY Bidd DR I o TBd &

Straight cut edges with sharp corners can be cut

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134311 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T O A desd § (eidiesy) ¥, o ofdded W@ & & fou Fofifed § §

YHAET e $ddl $1 S giell &

In Gas tungsten arc welding (GTAW) which of the following polarity is generally used for
getting higher penetration

a) fQF YRT F9 YdUDirect current straight polarity

b) fGF YRT IshH $dUI /Direct current reverse polarity

¢) UdMEd 9R1 3= 3Mafy/Alternating Current high frequency
d) Iwd /AL of the above

Options :

1.a

2.b

3.C

4.d

Question Number : 16 Question Id : 7715134311 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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9 Oeq o desd H (oicieey) ©, S Sfddsd U@ & & fou MEfafed § 9
In Gas tungsten arc welding (GTAW) which of the following polarity is generally used for

getting higher penetration

) TGP 4R P9 YauiDirect current straight polarity

) f&F YRT IsPH $[@UI Direct current reverse polarity
)
)

a
b
c
d

Options :
1.a
2.b
3.c
4.d

@l @1 JUEM BT B

Udledl YR S 3f1af/Alternating Current high frequency
I TAL of the above

GET IT ON
Google Play

Question Number : 17 Question Id : 7715134312 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a0 4o @1 TEs & AR-UR HGHUU Uided &1 faaRor ... ... .. H

Distribution of shear stress across the depth of the beam is?

a)  dBY@l/Curvilinear
¢) WRddidd/Parabolic

Options :
1.a
2.b
3.C
4.d

b) YR /Linear
d) ©HE/Cubic

Question Number : 17 Question Id : 7715134312 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faR0r 9 & ez & AR-UR {UeYU Ufded &I fadqwor ... ... .. B

Distribution of shear stress across the depth of the beam is?

a)  g@¥@l/Curvilinear
¢) WRddidd/Parabolic

Options :
1.a
2.b
3.c

b) YREH/Linear
d) ©HM/Cubic
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4.d

Question Number : 18 Question Id : 7715134313 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ud Tl I PIC & R0 G H ffddd Ty Hided U G AU Hided
P13 ...... gl

The ratio of maximum shear stress to average shear stress in a beam of circular cross
section.

a) 34 b) 1/3 ¢) 1/4 d) 4/3

Options:
1.a
2.b
3.C
4.d

Question Number : 18 Question Id : 7715134313 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ T00 S B & R0 §F H da e Hied ¥ Sfiged Smeun uied
U ...... 3l

The ratio of maximum shear stress to average shear stress in a beam of circular cross
section.

a) 34 b) 1/3 c) l/4 d) 4/3

Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134314 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3 WOE YR & DRU fIHT B WY I¥9 FHAd Il & o @

@ed §

The property of a material which enables it to resist fracture due to high impact loads is
known as

a) Ueed /Toughness b) Yeldl/Endurance

¢c) YWu/Strength d) WdiYdlResilience
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Options:
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134314 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Jd GUg HR & DR faHT o1 Uiy dyq gHdr 9El & oeE &
PEd ©

The property of a material which enables it to resist fracture due to high impact loads is
known as

a)  Hcedl/Toughness b) Yeldl/Endurance
c) Wﬂf’Strength d) Uddl/Resilience

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134315 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ui T YA Ud 981 A AE Ue 4 o H uided 1 A o g, ol FHufed 98t
% PR § U T9Y JUIH FH-9 2me

If an application demands stresses on screw threads in one direction only, then which of
the following type of thread would be best suited

a)  @/Square b) d¥H/Acme
¢) dWButtress d) Hicdl/Metric
Options :

1.a

2.b

3.c

4.d

Question Number : 20 Question Id : 7715134315 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Ui U yaN Ud g8 A AW e ¢ fw H uided o1 AW o §, o FHufied 98t
% PR § U T9Y SO FH-T1 Eme

If an application demands stresses on screw threads in one direction only, then which of
the following type of thread would be best suited

a)  @/Square b) d¥H/Acme
¢) dWButtress d) HicdMetric
Options:

1.a

2.b

3.c

4.d

Question Number : 21 Question Id : 7715134316 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A 9O & Qi wered & foy Fefafed d O 6w uea (Reie) @ e o
EIRI| I

Which of the following parameters should be monitored for determining safe operation of
journal bearing?

dd @§/0il pressure

a)
) SO Y d9HH/Bearing metal temperature
)
)

S9RTT HU/Bearing vibration
Swad GHl/Al of above
Options :

1.a

2.b

3.¢C

4.d

Question Number : 21 Question Id : 7715134316 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ha U & Qi weEred & foy Fefaied d O 6w uea (Reie) @ didied o
EIRI| I

Which of the following parameters should be monitored for determining safe operation of
journal bearing?

dd @§/0il pressure

a)
) 9G4 d9HH/Bearing metal temperature
)
)

S9RTT HU/Bearing vibration
Swad GHl/Al of above

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134317 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
%amﬁwﬁﬁra%nga?wmﬂ:ﬁumﬁmm#mﬁm 3y fae

......... I

The solid solution formed when carbon atoms are absorbed into face centred cubic
structure of iron is called

a)  3fCEe/ Austenite b) URfse/Ferrite

¢) f4HeRe/Cementite d) HIETEEe/ Martensite
Options :

1.a

2.b

3.c

4.d

Question Number : 22 Question Id : 7715134317 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
%amﬁwﬁﬁra%nga?wmﬂ:ﬁumﬁmm#mﬁm 3 fae

......... I

The solid solution formed when carbon atoms are absorbed into face centred cubic
structure of iron is called

a)  3fCEe/ Austenite b) URfse/Ferrite

¢) f4HeRe/Cementite d) HIETEEe/ Martensite
Options :

1.a

2.b

3.cC

4.d

Question Number : 23 Question Id : 7715134318 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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AA XXX 4T & fiedl uqifa fserg & fow ved g Mso ges ... ... g

For wrought Aluminium alloys, AA 2XXX series, the predominant alloying element is

a)  digl/Copper b) ﬁiﬂﬂ-‘Mauganese

c) AR/ Magnesium d) i@ ©d A9/ Zinc and Manganese
Options:

1.a

2.b

3.C

4.d

Question Number : 23 Question Id : 7715134318 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AA XXX 4T & fiedl uqifa fserg & fow ved g Mso ges ... ... g

For wrought Aluminium alloys, AA 2XXX series, the predominant alloying element is

a)  digl/Copper b) ﬁiﬂﬂ.-"Manganese

c) AR/ Magnesium d) i@ ©d A9/ Zinc and Manganese
Options:

1.a

2.b

3.c

4.d

Question Number : 24 Question Id : 7715134319 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TS Torl & fou, o0 W qmem € W G) H IR @ A AR
S (v) ¥ T 3

For isotropic materials, the modulus of Elasticity in tension and shear (E and G) are related
to the Poisson’s ratio (v) as follows.

G E E G
3)5—@ b]G—m ¢) G_Z(l—\l) d)E—m
Options :

1.a
2.b
3.¢

4.d
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Question Number : 24 Question Id : 7715134319 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TS Torl & fou, o0 W qmem € W G) H IR @ A AR
S (v) ¥ T 3

For isotropic materials, the modulus of Elasticity in tension and shear (E and G) are related
to the Poisson’s ratio (v) as follows.

G E E G
3)5—@ b]G—m ¢) G_Z(l—\l) d)E—m

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134320 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gmmmmmamwmm B

For thin cylindrical shell structures loaded in compression, the design is based on

a) Ue & WG I Yield strength of material

b) el &1 9 gHW/Ultimate strength of material
c)
d)

YT @1 e gel/Buckling strength of the structure
T &1 STV Ged/Shear strength of the structure

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134320 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gmmmﬁaqaamammmm B

For thin cylindrical shell structures loaded in compression, the design is based on

a) Ue @ WG I/ Yield strength of material

b) U @ W W Ultimate strength of material

¢) UM @1 b M/ Buckling strength of the structure
d) T @1 U FHE/Shear strength of the structure


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134321 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fgfied # § diccg Slige & R $H-91 T g2
Which of the following is FALSE for bolted joints?
a) U RIRH Y & & [0 diws Sige & @ WIRd (diciss) [ o @

Bolted joints are preloaded to avoid vibration loosening.
b dw d W AR g d8) 3 W gg W s IR w g R @
@18) B AftmEr ¢ W 3

Threads made by thread rolling process are preferred over machined threads in bolts.

¢) WWqd WRd (iiee) dike § a1 YR @1 WM B I g, 39 WR @ &%
yioed wfel & Gied @I FHid B § 9 U9 Uiowd §ice # G B el §

When external load is applied to a preloaded bolt joint, a bigger percentage of that
load relieves compression of flanges and remaining percentage increases tension in
bolts.

d) e diee 3 HGHE THR F T § Rl & i g wi g 9
I gl
Bolted joints are designed such that bolt stiffness is higher than flange stiffness.

Options :

1.a

2.b

3.cC

4.d

Question Number : 26 Question Id : 7715134321 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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fuffed # ¢ dicds dige & U SH-91 T0d 82
Which of the following is FALSE for bolted joints?
a) &Uf RIUGH ¥ 99 & fow diccs ofie &1 @ wiRka (ficiss) foar o §

Bolted joints are preloaded to avoid vibration loosening.

b) diee #HOH A (U8 ¥ W T ae (IS e whea g R 98
(U3) B T & o @

Threads made by thread rolling process are preferred over machined threads in bolts.

¢) W4 [d Hkd (fidlee) dise § 9@ WR @ W fF0 o 8, S§ 4R @1 €9l
UfoRd Wi & YT @1 Fuiied BT § Ul AW YR diee H G @1 el §
When external load is applied to a preloaded bolt joint, a bigger percentage of that
load relieves compression of flanges and remaining percentage increases tension in
bolts.

d) diws WiEe @ AGHE FWER D R § ol § die g W giRd 9
I
Bolted joints are designed such that bolt stiffness is higher than flange stiffness.
Options:
1.a
2.b
3.c

4.d

Question Number : 27 Question Id : 7715134322 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dlecR gUUR & (Ufd®) ...... g1 g §

The collapsible tooth paste tubes (metallic) are manufactured by

a) H4dg E‘%‘gﬂ:{.-"lmpact extrusion

b)  duH/Piercing

c) faggd ufaly dee-/Electric resistance welding
d)  dter sfgdeH/Direct extrusion

Options :
1.a
2.b
3.C
4.d

Question Number : 27 Question Id : 7715134322 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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dISeR TUUR & (Ulfdd) ... .. R (AT §

The collapsible tooth paste tubes (metallic) are manufactured by
a) H4Yg E‘%ﬁﬂ:ﬁ-"lmpact extrusion

b)  dY-/Piercing

¢) faggd ufaRly des-/Electric resistance welding

d)y dier sfgdeF/Direct extrusion

Options:
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715134323 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 HW STER Weba ol o & $ifds i & SR & auH ® T b o @

U R dP T W o § oo R oug ¥R ¥ &S few 9 g,

............. oed §

A heat treatment process in which the metal is heated to a temperature above the critical
point, and held there for sufficient time and then cooled slowly in the furnace is called

a)  THMRIHNormalizing
b)  $Ffic/Annealing

¢) MRITempering

d) @Id UHd/Ageing
Options :

1.a

2.b

3.C

4.d

Question Number : 28 Question Id : 7715134323 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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U6 W IUAR Wibal fowd g @t wifod fdg & SR & dUAH R T 6 S 8
oA R TP G W A g oA R oud d 4R ¥ 3 few 9 o8, 94
............. e ¢

A heat treatment process in which the metal is heated to a temperature above the critical
point, and held there for sufficient time and then cooled slowly in the furnace is called

) TEERGI/Normalizing
) 3Fic/Annealing

¢)  <TRlTempering

d) @Id UHId1/Ageing

il

=2

Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134324 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
HoRdl & quigaH A ¥ Fulaied § 4 oH-91 I8 82

Which of the following is correct in the increasing order of hardness?

a) Austenite < Pearlite < Ferrite <Martensite
b) Pearlite < Austenite < Ferrite <Martensite
c) Austenite < Ferrite < Pearlite <Martensite
d) Austenite <Martensite< Ferrite <Pearlite

Options :
1.a
2.b
3.C
4.d

Question Number : 29 Question Id : 7715134324 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
PRI & guigaE ®A F Fgfafad d 9 oH-91 981 72

Which of the following is correct in the increasing order of hardness?

a) Austenite < Pearlite < Ferrite <Martensite
b) Pearlite < Austenite < Ferrite <Martensite
c) Austenite < Ferrite < Pearlite <Martensite
d) Austenite <Martensite< Ferrite <Pearlite

Options :
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1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134325 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e fod U @1 U6 Yaeq § SI o §, 9 MEffgd 9§ e
When the molten metal is poured in a mould, it may pass through the following items in
sequence

a) Al (8], W, ﬁE, cig UgH/Sprue, runner, gate, top riser
by TR, AW (F), e, o {gHVRunner, sprue, gate, top riser
¢) O IEW, TR, A (¥, Te/Top riser, runner, sprue, gate

e, MM ("), Gl A, TR/Gate, sprue, top riser, runner

Options:
1.a
2.b
3.¢
4.d

Question Number : 30 Question Id : 7715134325 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e e Ui @ 06 Ga@d § oI W 8, 9 MEffdd 9 ¥ T
When the molten metal is poured in a mould, it may pass through the following items in
sequence

a) MR (¥, TR, e, U AZW/Sprue, runner, gate, top riser
b) TR, I (§)), W, U IZWRunner, sprue, gate, top riser
¢) O ILW, TR, QM (¥, Te/Top riser, runner, sprue, gate

ﬁ'd, S (), g AW, TR/Gate, sprue, top riser, runner

Options :
1.a
2.b
3.cC
4.d

Question Number : 31 Question Id : 7715134326 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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b e J@% ............... o1 SRR 3 2
o=

a)  gdig ®IU Y&UThird Angle Projection
b) THGR® WaUIsometric Projection

¢) WYH DIV H&UFirst Angle Projection
d) fad® y&uoblique Projection

in Engineering Drawings represents

Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134326 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

b e J@% ............... o1 SRR 3 2
o=

a)  Jdig @I Y&UThird Angle Projection
b) THGR® WaUIsometric Projection

¢) WYH DIV H&UFirst Angle Projection
d) fad® y&uoblique Projection

in Engineering Drawings represents

Options :
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134327 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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ﬁmﬁ%%%@ﬁ%@ﬁﬁ%m%ﬁﬁmﬁwm
Il ©?

Which one of the following type of plant layout is used for manufacturing of huge
aircrafts?

3G TS/ Product layout

AT W3HST /Process layout

f@R WM T3M3¢ /Fixed position layout
TUIGH T33E /Combination layout

oo o o
i e e

Options :
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134327 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

95 agul & P & fou Fefifed § ¥ Y 9eR & wic derse & SwEm e
oIl 82
Which one of the following type of plant layout is used for manufacturing of huge
aircrafts?

3G W3¢/ Product layout

nfda e3e [Process layout

f@R M W3M3< /Fixed position layout
TUIvH W3M13¢ /Combination layout

L= o T = -
e

Options :
1.a
2.b
3.C
4.d

Question Number : 33 Question Id : 7715134328 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

PERT/CPM ¥ Hl06 W .......... 8
The critical path in PERT/CPM is

2) I6 Y 0 6 b ¥ qYW W T P H WG F & U W e
RRUAGERGK:
The shortest path in the network from start to the end and defines the minimum time to

complete the project

b) T ¥ 1 T cad H QaH W o B B W d & oy s e al
RRUAGERGK:
The longest path in the network from start to the end and defines the maximum time to

complete the project

¢) I6 ¥ 30 T oab ¥ WM W o o 3 I B o [0 dfiwan g Al
Tfui v 3

The shortest path in the network from start to the end and defines the maximum time to

complete the project

d) 0 9 9 0 Jead W dNon W a @ W B & U g W Al
Tfui v 3

The project longest path in the network from start to the end and defines the minimum
time required to complete the project

Options:
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134328 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

PERT/CPM ¥ Hl06 W .......... 8
The critical path in PERT/CPM is

2) I6 Y 0 6 b ¥ qYW W T P H WG F & U W e
RRUAGERGK:
The shortest path in the network from start to the end and defines the minimum time to

complete the project

b) T ¥ 1 T cad H QaH W o B B W d & oy s e al
RRUAGERGK:
The longest path in the network from start to the end and defines the maximum time to

complete the project

¢) I6 ¥ 30 T oab ¥ WM W o o 3 I B o [0 dfiwan g Al
Tfui v 3

The shortest path in the network from start to the end and defines the maximum time to

complete the project

d) 0 9 9 0 Jead W dNon W a @ W B & U g W Al
Tfui v 3

The project longest path in the network from start to the end and defines the minimum
time required to complete the project

Options:
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134329 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

oA ol A @ U o O e

The VALUE in value engineering can be expressed as

a)  Value = Function x Cost b) Value =

Function ]
Cost Cost

c) Value=

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134329 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

oA Sl A @ U o e

The VALUE in value engineering can be expressed as

a)  Value = Function x Cost b) Value =

Function |
Cost Cost

c) Value=

Options :
1.a
2.b
3.cC
4.d

Question Number : 35 Question Id : 7715134330 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faoiitd dreigs MRl & fow fadu uerdf # .. .. .. .. A §

The coating materials for coated carbide tools includes

a) TiC, TiN and NaCN b) TiN and SiO;
c) TiC and TiN d) TiC and NaCN

Options:


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134330 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faoiitd dreigs MRl & fow fadu uerdf # .. .. .. .. A §

The coating materials for coated carbide tools includes

a) TiC, TiN and NaCN b) TiN and SiO;
c) TiC and TiN d) TiC and NaCN

Options:
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134331 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofafaa & 9 oF-w o fRfE SioR gR1 81 quiar S

Which of the following properties is not possessed by ceramic tools?

a) 3= ®oRdI/High hardness

b) J= Ytk YH@/High compressive strength
¢c) 3= dU™ drdddi/High thermal conductivity
d) 3= HRdI/High brittleness

Options :

1.a

2.b

3.C

4.d

Question Number : 36 Question Id : 7715134331 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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fofafaa & 9 oF-w Tud RRfA® SioR gR1 T8] quiar Sl

Which of the following properties is not possessed by ceramic tools?

a) 3= ®ARdI/High hardness
b) J= Yitsd IMw/High compressive strength
c) 3= dU™ drdddi/High thermal conductivity
d) 3= HRdI/High brittleness

Options:
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134332 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ALM &1 Addd ...... B
ALM stands for

a) HioHl dF fAHiv/Additive Lean Manufacturing
b) dioHl @R FHElAdditive Layer Manufacturing
c) 3HidRad TR AHIUI/Additional Layer Manufacturing

d) 3I9ad ¥ ¥ $is Ael/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134332 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ALM &1 Addd ...... B
ALM stands for

a) dioFl dF fAHiv/Additive Lean Manufacturing
b) Il @R FElAdditive Layer Manufacturing
c) 3HidRad TR AHIU/Additional Layer Manufacturing

d) 3I9ad ¥ U $is Ael/None of the above

Options :
1.a
2.b


https://applink.adda247.com/d/XhqWf9lSap
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3.C
4.d

Question Number : 38 Question Id : 7715134333 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FefifEd 4 ¥ oH-9 tad Ui5e B 3ER g2

Which one of the following is a single point cutting tool?

a) g®yUl wie/Hacksaw blade b) UNU Sed/Milling cutter
¢) YUNUl &d/Grinding wheel d) gy®A 3fSR/Parting tool

Options:
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134333 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofafad & ¥ oH-91 tod Uise Had 3HeR 82

Which one of the following is a single point cutting tool?

a) g®yUl wie/Hacksaw blade b) UNU Fed/Milling cutter
¢) YUNU[ &d/Grinding wheel d) JY®A 3R/Parting tool

Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134334 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFafifEd & 9 -3 o0 g uenn gef & R e T8I g

Which one of the following is NOT used as abrasive material for grinding wheels

a) UQMHEE 3HiFge/Aluminium oxide

b) fHf®H @MEEs/Silicon Carbide

¢) @dd R AIges/Cubic boron nitride
d) HHY HHEEE/Manganese oxide


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134334 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFafifEd & 9 -3 o0 g uenn gef & R e T8I g

Which one of the following is NOT used as abrasive material for grinding wheels

a) UQMHEE 3HiFge/Aluminium oxide

b) fHf®H @MEEs/Silicon Carbide

¢) @dd R AIges/Cubic boron nitride
d) HHY HHEEE/Manganese oxide
Options :

1.a

2.b

3.c

4.d

Question Number : 40 Question Id : 7715134335 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

OefifiT o &4 99 B 41U & U Uged JUaRU 41 gfd ... ... .. e

The instrument or device used to measure the cutting forces in machining is

a)  gufamdl Tachometer

b)  {afE/Comparator

c) SRHHHCYDynamometer
d)  ®IfgA/Encoder

Options :
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715134335 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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i § &dq 99 & A & U uged SueRw o g ... ?

The instrument or device used to measure the cutting forces in machining is

a) UG Tachometer
b)  gdA/Comparator
c) SHAHHeYDynamometer

d)  ®If&A/Encoder

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134336 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g 39 & U qw WifshT amaE goi

Hot forging temperature range for mild steel is

a)  400°C to 600°C
b)  700°C to 900°C
c) 1000%C to 1300°C
d) 1400°C to 1500°C

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134336 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g 3Wd & U awd SIS aogE 8o ... L. 8

Hot forging temperature range for mild steel is

a)  400°C to 600°C
b)  700°C to 900°C
C) 1000°C to 1300°C
d) 1400°C to 1500°C

Options :
1.a
2.b


https://applink.adda247.com/d/XhqWf9lSap
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3.C
4.d

Question Number : 42 Question Id : 7715134337 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wyl HRiFT & GRME, oig FeeE L. R JMIfdd &

During ultrasonic machining, the metal removal is affected by the

a)  HURiq BUI $1 9dred HR/Hammering action of abrasive particles

b) WR T IHUNY & did FU¥ BRIRubbing action between tool and work-piece
c) I A@RT YR YRVHigh frequency eddy currents

d) JWE ¥ ¥ B T/None of the above

Options :

1.a

2.b

3.cC

4.d

Question Number : 42 Question Id : 7715134337 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wy wRiFT & GRME, oig FeerE L. R WMIfdd &

During ultrasonic machining, the metal removal is affected by the

a)  UMd &UI $1 9died HR/Hammering action of abrasive particles
b) VR T UG & &9 FYY0 BRRubbing action between tool and work-piece
¢) I« @R YR YRVHigh frequency eddy currents

d) 3w ¥ T B e/None of the above
Options :

1.a

2.b

3.cC

4.d

Question Number : 43 Question Id : 7715134338 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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@RR ®d EDM Uhdl #, 00 & o & foU oawe ufd foud gia fea
9T e TE....

In a wire-cut EDM process, the necessary conditions that have to be met for making a
successful cut are that

a) R U9 d0q fdgqd 0 ¥ R 900 &
Wire and sample are electrically non-conducting
b) IR U4 ¥ud fdgqd U ¥ 9@ §
Wire and sample are electrically conducting
¢) R fdgqd ®U I 9@ ¢ 1 Jud faggd €0 ¥ R d0d
Wire is electrically conducting and sample is electrically non-conducting
d) ¥ fd9gqd ¥U ¥ Id § U4 9 fdggd €9 ¥ R 96e

Sample is electrically conducting and wire is electrically non-conducting

Options :
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134338 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR @4 EDM Wikl H, Wha Bod o @ foU enavs Rufqnl fowd it fea

WMl g, 9 8....

In a wire-cut EDM process, the necessary conditions that have to be met for making a
successful cut are that

a) OR U 40 fdgqd ®U R 90D &
Wire and sample are electrically non-conducting
b) TR W@ ¥0q fGggd ¥ W D 3
Wire and sample are electrically conducting
¢) R fdgqd ®U I 9@ ¢ 1 Jud faggd €0 ¥ R d0d
Wire is electrically conducting and sample is electrically non-conducting
d) ¥ fd9gqd ¥U ¥ Id § U4 9 fdggd €9 ¥ R 96e

Sample is electrically conducting and wire is electrically non-conducting

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134339 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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fFafied 9 deqel § 4, el wiew ... ..., ¥ fou amews §

Among the following welding techniques, vacuum environment is required for

a) WA dE/Ultrasonic welding

b) TR B0 Us des/Laser beam welding

¢) TWHl 3Md desA/Plasma arc welding

d) Sodel TR0 U9 des/Electron beam welding

Options:
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134339 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFafied 9@ el § 9§, Feld wmiww ... ... ¥ fou smows &

Among the following welding techniques, vacuum environment is required for

a) ¥ desd/Ultrasonic welding

b) W &R 49 d=/Laser beam welding

¢) TWWHl 3$ des4/Plasma arc welding

d) Sdde fRU U9 deed/Electron beam welding

Options :
1.a
2.b
3.C
4.d

Question Number : 45 Question Id : 7715134340 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TF Hdd R H J9@T ... ... it Tof Bl Gl

A cutting tool can never have its

a) Y& DI - YD/ Rake angle — positive

b) Y& DIV - BUNHD/Rake angle — negative

¢)  3fdell DIV - ¢AIHB/Clearance angle — positive
d)  3fduell DIV - FBUNES /Clearance angle — negative

Options:
1.a
2.b
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3.C
4.d

Question Number : 45 Question Id : 7715134340 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UF @dd R H JH@T ... ... it Tof &l GBI

A cutting tool can never have its

a) @ B - H[HDB/Rake angle — positive

b) Y& DIV - BUNHD/Rake angle — negative

c)  3fRIcl I - YAIESB/Clearance angle — positive
d) SRl B0 - BUTHSD /Clearance angle — negative

Options :
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134341 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frofofed # 4 F-d Haieq Uik H aHUg &1 Tod WHT 6 82

Which one of the following joining process doesn’t involve melting of work piece?

a) 79 dwed/Gas Welding b) #Md des/Arc Welding
¢) ®-/Brazing d) WfieRlel des/Resistance Welding

Options :
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715134341 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofofed & ¥ -9 daioq uiear # 9y &1 o WEd Tl g

Which one of the following joining process doesn’t involve melting of work piece?

a) 119 dee/Gas Welding b) ¥4 dee/Arc Welding
¢) WvH/Brazing d) UfRIY de=/Resistance Welding
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Options:
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134342 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofefed 4 € oF ded 599 9 s 7fd 78 < gdae
Which one of the following CANNOT impart linear motion in a CNC machine?

a) Y@ AlY/Linear motor b) did U=/Ball screw
c) i Ud/Lead screw d) @ d Eadsh/Chain and sprocket

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134342 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFofifed # ¥ o dedt w2iH | W 1 78§ uhde
Which one of the following CANNOT impart linear motion in a CNC machine?

a) Y& AleY/Linear motor b) did Ug/Ball screw
c) e Ud/Lead screw d) @ Ud Gddsh/Chain and sprocket

Options :
1.a
2.b
3.C
4.d

Question Number : 48 Question Id : 7715134343 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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AT | SR o/ THE F U W ... SRI Wifdd @

Tool life in machining is affected mainly with

a) Tis/Feed b) @a- @I TRels/Depth of cut
c) fid®/Coolant d) &9 TfA/Cutting speed

Options :
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134343 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AT | SR o/ THE F U W ... SRI Wifdd @

Tool life in machining is affected mainly with

a) Tis/Feed b) @ @I TREls/Depth of cut
c) fid®/Coolant d) ®dq TfA/Cutting speed

Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134344 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FH-U deed IR TP d & & (U IR SUYE e Sodels @1 SWN #Rdl 62

Which type of welding process uses a non-consumable tungsten electrode to create a weld?

a)  MIG deedwelding b) TIG dee welding
¢) Db deed /Arc welding d) 719 9 /Gas welding

Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134344 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185
HH-G desd UiehdT Ud de §1F @ fiU IR IUqdd FRe 3adcls @1 SWN Rl g

Which type of welding process uses a non-consumable tungsten electrode to create a weld?

a)  MIG des/welding b) TIG dee welding
¢) M deed/Arc welding d) 9 9t /Gas welding

Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134345 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3G [d@™ ¥ FMEA &1 U@ 3530 &1 82
What is the primary purpose of FMEA in product development?

a) JdGg ¥ ®Hgl & IWR d¢HI/Maximizing defects in a product
by favg fawaal f[urell Td Igd yHEl S GgaEAl

Identifying potential failure modes and their effects
c) 3G IdGd D @Rd I Accelerating product production
d) Hidbe Ufddiffiar & &9 $HH/Reducing market competition

Options :
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134345 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e faee § FMEA &1 Udfie 3539 1 82
What is the primary purpose of FMEA in product development?

a) JdG ¥ Bl & IR dgHI/Maximizing defects in a product
by Tdva fawear faurell d Iud UHEl S GgaEHl

Identifying potential failure modes and their effects
c) JdG Jdled I @ikd HIHl/Accelerating product production
d) Hdbe Uil & &0 &XReducing market competition

Options :
1.a
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2.b
3.C
4.d

Question Number : 51 Question Id : 7715134346 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T o1 & B 1@ i YR B U6 B B we o & B ... PEd &

Material's ability to withstand sudden and intense load without breaking is called

a)  dddl/Ductility b) Yegdl/Toughness
¢) UIMRYdI/Elasticity d) HRdl Hardness
Options :

1.a

2.b

3.c

4.d

Question Number : 51 Question Id : 7715134346 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1 4oF & o 1@ i YR B e o @ wo o & o ... TR &

Material's ability to withstand sudden and intense load without breaking is called

a)  dddlDuctility b) Yeedl/Toughness
¢) UIRdlElasticity d) HBRdI/Hardness
Options :

1.a

2.b

3.C

4.d

Question Number : 52 Question Id : 7715134347 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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Wﬂglﬂ‘iﬂﬁﬂﬁ, e Qudhul H WEdl WGH %A o U Wgad WYl SOl @l Eid
&l 52

In Ultrasonic Machining, what is the source of the ultrasonic vibrations used to assist in
material removal?

a) Jd T4 Tq ulc/High-pressure water jet

b) 9P &/ Magnetic fields

¢) %dqd fdgdd CiUSTEYPiezoelectric transducer

d) figgd wHmE® 3fHfsalElectrochemical reaction
Options :

1.a

2.b

3.C

4.d

Question Number : 52 Question Id : 7715134347 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wy T H, gord QuaaRul H Erdl WoH B3 & foU WE Wiy d & Hid

I 82

In Ultrasonic Machining, what is the source of the ultrasonic vibrations used to assist in
material removal?

a) 3@ G W ui¢/High-pressure water jet

) Y90/ &/ Magnetic fields

) wdald f9qd SR Piezoelectric transducer

) fagyd TEmiE fHfHAElectrochemical reaction

Options :

=

c
d

1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134348 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ﬂqﬁ'}g@a'[" Ug 3] Hﬁﬂ ...... :\q %

The term "accuracy" refer to

a) U 9F ¥ HifUd qH & HEUd Bl
The degree of conformity of a measured value to the true value
b) HH H Ug@yU fdl @ YA The number of significant figures in a measurement
c) I ATH B! HUA BT &HIThe ability to measure small dimensions
d) TM9 & Y AU B YAl The consistency of measurements over time
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Options:
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134348 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

uqﬁ%—cﬂ" g o J&Y ...... -\El %

The term "accuracy" refer to

a) Ty oH o Aiftd 99 #1 dEud $if
The degree of conformity of a measured value to the true value

b) HUH H #EQyUl 3l @1 YA/ The number of significant figures in a measurement
c) BIC AW S HU4 B &I The ability to measure small dimensions
d) U9 & WY 90 B AU The consistency of measurements over time

Options :
1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134349 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

&g TeR 1 Gy ver 3= qUEE @ U S@F Wkl @ T 9 82

Which type of composite material is known for its excellent resistance to high
temperatures?

a) e BIRER JFS/Carbon fiber composites

b) TIH B IHY/Glass fiber composites

¢) RRM® Afes YWY/ Ceramic matrix composites
d) dga® A WY/ Polymer matrix composites
Options:

1.a

2.b

3.c

4.d

Question Number : 54 Question Id : 7715134349 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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{5y yoR & 9Ey weM 99 AU & Ul S@P WRIY & o i g

Which type of composite material is known for its excellent resistance to high
temperatures?

a) GIGE] IRR iryg/Carbon fiber composites

b) T IR iATY/Glass fiber composites

¢) Rife Ae §EY/Ceramic matrix composites
d) dga® AfeH TEY/Polymer matrix composites
Options :

1.a

2.b

3.c

4.d

Question Number : 55 Question Id : 7715134350 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uity g &1 "Tg" A 82

What is the "Tg" of a composite material?

a) Uerd UMY &1 AYd/Measurement of material strength.

b) fdggd drdddl &I HU-A/Measurement of electrical conductivity.
¢) A YHHU dITHM/Glass transition temperature
d) I%H WWHAl &1 A9A/Measurement of resin viscosity.

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134350 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

iy uard @1 "Tg" T &2

What is the "Tg" of a composite material?

a) Uard UMY @1 AY4/Measurement of material strength.

by fdggd d9Id&dl P HIU4/Measurement of electrical conductivity.
c) T AU diddH/Glass transition temperature
d) IH |WHAl &1 AYH/Measurement of resin viscosity.

Options :
1.a
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2.b
3.C
4.d

Question Number : 56 Question Id : 7715134351 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

iy tel H, At gl &1 UdiEe ued @l gl

In composite materials, what is the primary function of matrix material

a) 9mY Ud gi=dl WaH ®Al/Provide strength and stiffness
b) W&RUI ¥ §dId/Protect against corrosion
c) Ud HY Yeed U o1 A€y Td URu
Bond and hold the reinforcement material together
d) fdggd drdedl GURAIImprove electrical conductivity

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134351 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gy uerdf d, Aftw v &1 uuiEe uer & g

In composite materials, what is the primary function of matrix material

a) WMWY Ud Gl WGH &AlProvide strength and stiffness
b) TR ¥ gdId/Protect against corrosion
c) UP HY Ugad Yo &I 36y Td R0
Bond and hold the reinforcement material together
d) fdggd 9rd&dl YRl Improve electrical conductivity

Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134352 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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o omeuia URWSU U4 dW # Ui’y & PR 9y vedl @ AT & @
RO Wgad & R Ger $H-T1 82

Which cutting tool material is often preferred for machining composite materials due to its
resistance to abrasive wear and heat?

a) I Tid 39 (TIUHUH) High-speed steel (HSS)
) ®MEEE/Carbide
)

L=

) d9/Diamond
PiaTee/Cobalt

Options :

c
d

1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134352 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HUd yoefid ROV Ud 9 A Ry & GRU WY Ul @ W o @

TRV T Fad SR 1o dH-11 82

Which cutting tool material is often preferred for machining composite materials due to its
resistance to abrasive wear and heat?

a) 9o 7id $9 (TIUHUY) /High-speed steel (HSS)
®a158/Carbide

)
) d9/Diamond
) ®lEe/Cobalt

Options :

=

c
d

1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134353 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ﬁ%ﬂwqﬁﬂﬁﬂmﬁ, INR @ 309 @ &9 3 Ridd 9
lldl

In spark erosion machining process, gap between tool and workpiece is filled with

) U Bidl WidRS/A photo etchant
b) ©du fdTd/Brine solution
c) 3% fdcid/Acid solution
d) %9 WA liquid dielectric

o
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Options:
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134353 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ﬁ%ﬂwwﬂﬁﬂmﬁ, ISR U4 FoUE & 99 31 RS Pl
STl

In spark erosion machining process, gap between tool and workpiece is filled with

Ud el WidR/A photo etchant

a)
) TdU fded/Brine solution
)
)

I fde@/Acid solution
%4 WIdGd/A liquid dielectric

Options:

b
¢
d

1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134354 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U AgoiHe ... .. @1 A0 &l §

The thread micrometer measures

a) Ud @ Y& AM/Major diameter of the thread

b) Ud &I &Y @R/Minor diameter of the thread

c) Ud @ WHMHl AM/Effective diameter of the thread
d) Ud @ d @/Root diameter of the thread
Options :

1.a

2.b

3.C

4.d

Question Number : 59 Question Id : 7715134354 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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U AgeiHe ... .. P A0 &l §

The thread micrometer measures

a) Ud @ J& d/Major diameter of the thread

b) Ud @ @Y HR/Minor diameter of the thread

c) Ud @ WHHl SAM/Effective diameter of the thread
d) Ud &I Hd AM/Root diameter of the thread
Options :

1.a

2.b

3.C

4.d

Question Number : 60 Question Id : 7715134355 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frafifed # @ eF-ur gl FEfo ufebar g2

Which of the following is an Additive Manufacturing process?

a) fafd ¥g@H/Vacuum Casting

b) @& AU Jedh-IH0/Room temperature vulcanization
c) Bfaw srm ggu (FRAl [FYIEY) /Stereolithography
d) Tufeid— Igs ddm-/Silicon Rubber Molding

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134355 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frafafed # @ F-ur gl Eio ufear g2

Which of the following is an Additive Manufacturing process?

a) fafd ¥d&+/vVacuum Casting

b) ®& AU Teh-IH0/Room temperature vulcanization
c) Bifaw 3w ggu (FRA! fGYIA®!) /Stereolithography
d) fHfeied WS ddF/Silicon Rubber Molding

Options :
1.a
2.b


https://applink.adda247.com/d/XhqWf9lSap

Addal247

3.C
4.d

Aptitude Test

PartI

Question Number : 61 Question Id : 7715134356 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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iemard dadl U4 g g @i d U § 39 Mm@ fRlY Seael @1 dd §
& g0 T99 ® afGadl @ SifeH 36H @1 HRGR 2, 96 @ & d 31 edl 31 aoe
U gl @I dic 7 U] TR, 3@ [y § & 98 die §w U 41 9 U
Tde @fgd @1 ffg @ TRy fekfEd F @ on-w, ot 9@ @ @, Iww oxfy
frepul @t Tivagd® gda Bl o

Opponents of laws that require automobile drivers and passengers to wear seat belts argue that

in a free society people have the right to take risks as long as the people do not harm other as a

result of taking the risks. As a result, they conclude that it should be each person's decision

whether or not to wear a seat belt. Which of the following, if true, most seriously weakens the

conclusion drawn above?

(a) F% AU &R WY dic dee 9 A § O 5 & gR1 oWl 31 Ui # 9o W wuEd
Affd & WY §Y o 3
Many new cars are built with seat belts that automatically fasten when someone sits in
the front seat.
(b) ¥ 9 T TeH & IR Feql gquemel I g9 & fow TW ¢ & oRu wf
iemiag 4RO & Ry sfemeRy dm IR 95 T 2
Automobile insurance rates for all automobile owners are higher because of the need to
pay for the increased injuries or deaths of people not wearing seat belts.
() fm o afial &1 35 @ @A 60 U HGRU & oRH dle de T wet
%I Passengers in airplanes are required to wear seat belts during takeoffs and landings.
(d) omex de dw fm T oa IO H gHar gueisd @1 qol § U s fm A
gHa et # AR gHeTel &1 ) e B
The rate of automobile fatalities in states that do not have mandatory seat belt laws is
greater than the rate of fatalities in states that do have such laws.
Options :
1.a
2.b
3.¢C
4.d

GET IT ON
Google Play

Question Number : 61 Question Id : 7715134356 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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iemard dadl U4 g g @i d U § 39 Mm@ fRlY Seael @1 dd §
& g0 T99 ® afGadl @ SifeH 36H @1 HRGR 2, 96 @ & d 31 edl 31 aoe
U gl @I dic 7 U] TR, 3@ [y § & 98 die §w U 41 9 U
Tde @fgd @1 ffg @ TRy fekfEd F @ on-w, ot 9@ @ @, Iww oxfy
frepul @t Tivagd® gda Bl o

Opponents of laws that require automobile drivers and passengers to wear seat belts argue that

in a free society people have the right to take risks as long as the people do not harm other as a

result of taking the risks. As a result, they conclude that it should be each person's decision

whether or not to wear a seat belt. Which of the following, if true, most seriously weakens the

conclusion drawn above?

(a) F% AU &R WY dic dee 9 A § O 5 & gR1 oWl 31 Ui # 9o W wuEd
Affd & WY §Y o 3
Many new cars are built with seat belts that automatically fasten when someone sits in
the front seat.
(b) ¥ 9 T TeH & IR Feql gquemel I g9 & fow TW ¢ & oRu wf
iemiag 4RO & Ry sfemeRy dm IR 95 T 2
Automobile insurance rates for all automobile owners are higher because of the need to
pay for the increased injuries or deaths of people not wearing seat belts.
() fm o afial &1 35 @ @A 60 U HGRU & oRH dle de T wet
%I Passengers in airplanes are required to wear seat belts during takeoffs and landings.
(d) omex de dw fm T oa IO H gHar gueisd @1 qol § U s fm A
gHa et # AR gHeTel &1 ) e B
The rate of automobile fatalities in states that do not have mandatory seat belt laws is
greater than the rate of fatalities in states that do have such laws.
Options :
1.a
2.b
3.¢C
4.d

GET IT ON
Google Play

Question Number : 62 Question Id : 7715134357 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

VENT Teg @I Y T T Weg & IIT B

Choose the word which best expresses the meaning of the word : VENT

(a)
(b)
(c)
(d)

Opening
Stodge
End

Past tense of go
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Options:
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134357 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

VENT Teg @1 3 GUH a1 ¥eg @1 99 P

Choose the word which best expresses the meaning of the word : VENT

(a) Opening
(b) Stodge
(c) End

(d) Pasttense of go

Options:
1.a
2.b
3.¢
4.d

Question Number : 63 Question Id : 7715134358 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

ford o oaial & Ty fawrfle ©R & 1@ ol 960 901 W 81 € dedi ¢ @ 39
JaRid ¥ e ot ghart § ok i & suied & fou 3 sfofed oduial of s
gl o9 @1 aaf & 99 399 1 HHORl dR-aR od Wi ol fo @ ulfea @ g
qMigu?

Liz is conducting a morning meeting with her staff at a department store. She explains a sale is
going on this weekend, and she needs additional staff to help cover the rush. While Liz is speaking,

an employee keeps interrupting her. How should Liz react?

(a) il B BHIN BT 965 PN GAGH S T AR TH @I DAl Mgyl
Liz should tell the employee to clock out and leave.
(b) ol & $HIR ¥ 65 ¥ TR S B Sl ARl
Liz should ask the employee to leave the meeting.
() 93% & §R-9R e & v ol SHaival & 9, e @ DHIR @I Siel
dMETl  In front of all the employees, Liz should admonish the employee for interrupting.
(d) ol @1 fgaIgds SHaRl &1 U WY @ & U 959 & JEI db
3P DI Bl dMgul
Liz should politely ask the employee to wait until the end of the meeting to ask any
guestions they might have

Options :
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134358 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

ford o oaial & Ty fawrfle ©R & 1@ ol 960 901 W 81 € dedi ¢ @ 39
JaRid ¥ e ot ghart § ok i & suied & fou 3 sfofed oduial of s
gl o9 @1 aaf & 99 399 1 HHORl dR-aR od Wi ol fo @ ulfea @ g
qMigu?

Liz is conducting a morning meeting with her staff at a department store. She explains a sale is
going on this weekend, and she needs additional staff to help cover the rush. While Liz is speaking,

an employee keeps interrupting her. How should Liz react?

(a) il B BHIN BT 965 PN GAGH S T AR TH @I DAl Mgyl
Liz should tell the employee to clock out and leave.
(b) ol & $HIR ¥ 65 ¥ TR S B Sl ARl
Liz should ask the employee to leave the meeting.
() 93% & §R-9R e & v ol SHaival & 9, e @ DHIR @I Siel
dMETl  In front of all the employees, Liz should admonish the employee for interrupting.
(d) ol @1 fgaIgds SHaRl &1 U WY @ & U 959 & JEI db
3P DI Bl dMgul
Liz should politely ask the employee to wait until the end of the meeting to ask any
guestions they might have

Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134359 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

ol Bl diF fed vger uRaieHiel & gl R N qu de T o1 6 @ B & fou
T T 1 990 3| ol W GEATOS o1 B%d 91 oWt A o1 [ @} R Ul 39
Tde® W G ®H W 1 &R @ gl <l gRI UM 3 el Sfad dRdR & |
IR

Tommy was given a list of assignments to complete three days ago and was told he had a week
to complete them. After working quickly and efficiently, Tommy has completed the tasks. His

supervisor is working at a different location today. What is the most appropriate action for Tommy
to take?

(a) 2l B 3UG Wded Wl W §, 98l I dIfeU qul AU o & fqu GEA AU
Tommy should visit the location where his supervisor is and ask for a new assignment.
(b) TIHT BT SIH THY R BIAT ARY, o I a1 Fecl U4 GEdgdD B foba

iEt'l Tommy should take the rest of the day off since he worked so quickly and efficiently.

(c) T BT A TAE® P AT AMeY IR I BH-U T I [® B 8, Te
T gl

Tommy should call his supervisor and ask what new assignments he should start on.
(d) T B gW TedH @I ge ey Rl ol uREleHT @ fo wemar ARy g,
o 5 a8 omio & 5 o fam @@ & 7 o1 @

Tommy should find a coworker who needs help with a project, so he is not sitting around
the office doing anything.

Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134359 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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ol Bl diF fed vger uRaieHiel & gl R N qu de T o1 6 @ B & fou
T T 1 990 3| ol W GEATOS o1 B%d 91 oWt A o1 [ @} R Ul 39
Tde® W G ®H W 1 &R @ gl <l gRI UM 3 el Sfad dRdR & |
IR

Tommy was given a list of assignments to complete three days ago and was told he had a week
to complete them. After working quickly and efficiently, Tommy has completed the tasks. His

supervisor is working at a different location today. What is the most appropriate action for Tommy
to take?

(a) 2l B 3UG Wded Wl W §, 98l I dIfeU qul AU o & fqu GEA AU
Tommy should visit the location where his supervisor is and ask for a new assignment.
(b) TIHT BT SIH THY R BIAT ARY, o I a1 Fecl U4 GEdgdD B foba

iEt'l Tommy should take the rest of the day off since he worked so quickly and efficiently.

(c) T BT A TAE® P AT AMeY IR I BH-U T I [® B 8, Te
T gl

Tommy should call his supervisor and ask what new assignments he should start on.
(d) T B gW TedH @I ge ey Rl ol uREleHT @ fo wemar ARy g,
o 5 a8 omio & 5 o fam @@ & 7 o1 @

Tommy should find a coworker who needs help with a project, so he is not sitting around
the office doing anything.

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134360 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

JEyE @1 99 9ad ° % al I ... 4 %I!Careful is to cautious as bigheaded is

to

(a) Hﬁfﬂ?‘ﬁmrmgant
(b) fd9H/Humble
(c) &W@Hovful

(d) W{Suspicious
Options :
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 65 Question Id : 7715134360 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

JEE @7 99 9ad ° % al I ... 4 %I!Careful is to cautious as bigheaded is

to

(a) &[ﬁfﬂFﬁ{Armgant
(b) f&TH/Humble

(c) &Fi'cu'q:”fﬂovful
(d) W{Suspicious
Options :
1.a
2.b
3.C
4.d

Question Number : 66 Question Id : 7715134361 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DH-T1 Y ﬁlﬁ 2 @l Ufaeifig &3 ?/Which one will replace the question mark"?’

(a) 25

(b) 37

(c) 41

(d) 47

Options :
1.a

2.b

3.cC

4.d

Question Number : 66 Question Id : 7715134361 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

DH-T1 Y ﬁlﬁ 2 @l Ufaeifig &3 ?/Which one will replace the question mark"?’

7 6
5193/?\/9\
4 6 3

(a) 25

(b) 37

(c) 41

(d) 47

Options :
1.a

2.b

3.c

4.d

Question Number : 67 Question Id : 7715134362 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

T A B & oo 1Y o W T S0 ¢, W S i 3 oreT 31 e et o IR 61 54
G o 10 1T 5o e e} R G v 67

A bolt cutter has long handles with handle grips that are located as far away as possible
from the neck. Which statement provides the best reason for this design?

id §50 i i B Y T §

Longer handles make the cutting blade move faster
%quﬁﬁw%ﬁm@lﬂ%a‘lﬁ SRR e o f e 8

It provides mechanical advantage which allows cutting through thick bolts.

o UV | [CIaC T eoc & a A e |

The appearance of the tool is significantly more aesthetic with longer handles

A5 T B R i W TR diw odeh 1 e e T 2|

It makes the bolt cutter more durable when dropped accidentally

(@)
(b)
)
(d)


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

Options:
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134362 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

T diee dicd & gou Y o T T 350 ¢, W 3 il 8 ore 31 Wb 9t o Rt 61 58
ST o CT0 -8 o Y SR RV WG e 7

A bolt cutter has long handles with handle grips that are located as far away as possible
from the neck. Which statement provides the best reason for this design?

" ld 350 ot i 1 Wiy T §
Longer handles make the cutting blade move faster
b g Ui T WG X o) I 1 o R-UR ot F fl e |
It provides mechanical advantage which allows cutting through thick bolts.
. 7 STV B FeIac i g5 & A i Gav
The appearance of the tool is significantly more aesthetic with longer handles
(

A Y T A e R ¥ TR e i ot ifdes foama ¢

9 It makes the bolt cutter more durable when dropped accidentally

Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134363 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

e YeRe 90 & U Yo 2 Bie dis (qis gl) @l 3o & Y U@ Qe W 10 Wie
Wl (e gl @ W B §, e @ D a4 (THY) Al g
If a member of the armed forces is using a pulley and 10 feet of rope (effort distance) to lift a load
2 feet (load distance), what is the mechanical advantage (MA) of the pulley?

@) 1
(b) 20
(c) 2
(d) 5

Options:
1.a
2.b
3.C
4.d

Question Number : 68 Question Id : 7715134363 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

1 Y9 90 @ U@ Yo 2 B dis (qls gfl) @l 38H & fau U@ Telt ud 10 Bie
W (R gl B W B 8, T @ IitE aY () #@l 8
If a member of the armed forces is using a pulley and 10 feet of rope (effort distance) to lift a load
2 feet (load distance), what is the mechanical advantage (MA) of the pulley?

(a) 1
(b) 20
(c) 2
(d) 5

Options :
1.a
2.b
3.C
4.d

Question Number : 69 Question Id : 7715134364 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

of dford & Ot Frfeg § dfa-g-ara ST 3|

All the offices on the 9th floor have wall-to-wall carpeting.

o W da-z-ata o TR T 3

None of the wall-to-wall carpeting is pink.

of #fvd & fodt o orfaw & dfa-g-afa el ot T 2l
None of the offices on the 9th floor has pink wall-to-wall carpeting.

M A PH TS, o SR ......... 2|

If the first two statements are true, the third statement is

(a) Wel/True

(b) TIcId/False

(c) HHYd/Uncertain

(d) ST /Al of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134364 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

od Hiud & T Prfea H did-c-did den g

All the offices on the 9th floor have wall-to-wall carpeting.

o W da-z-dta o T T8 3

None of the wall-to-wall carpeting is pink.

od Hfoed & fodl ol ey § did-g-did e Tl Tl gl
None of the offices on the 9th floor has pink wall-to-wall carpeting.

e Ugd © B TG 5, o G B ..., 2l

If the first two statements are true, the third statement is

(a) Tel/True

(b) TIcId/False

(c) HHYd/Uncertain

(d) SUad /Al of the above

Options :
1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 70 Question Id : 7715134365 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

. Y-/Statements:
wi M @l 3 &t %}’AII mangoes are golden in colour.
H?I'QF @l i e T Tel %}‘ND golden-coloured things are cheap.

ﬁﬁ?ﬁfmonclusions:
(i) ol oW I %{AII mangoes are cheap.
(ii) w@ul §iH oW O el ngDIden-coloured mangoes are not cheap.

(a) HIA [i)'\quﬂ %fﬂl‘ﬂ‘f conclusion (i) follows
(b) HMA (ii)'\':IT;npf %,"Dnhf conclusion (ii) follows
(c) T (i) (i) Fal %;’Either{i]or{ii] follows
(d) T & (i) (i) el &/Neither (i) nor (i) follows

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134365 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

. ®Y-/Statements:
gt 3mF W T B %IAII mangoes are golden in colour.
fﬁ% @t A di T ol %}'ND golden-coloured things are cheap.

ﬁﬁﬁfﬂionclusions:
(i) Wi oW I %{AII mangoes are cheap.
(ii) @l 9fF o W Tl %{Golden—coloured mangoes are not cheap.

(a) HIE [i)HEpf %,"Dnl‘,»r conclusion (i) follows
(b) HME {ii)?l%pf %,"Dnl‘,»r conclusion (ii) follows
(c) TT ()TT (i) Tel %,-’Either{i]or{ii] follows
(d) = & (i) (ii) WS B/Neither (i) nor (ii) follows

Options :
1.a
2.b
3.C
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Question Number : 71 Question Id : 7715134366 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

diF dee &1 Sig 98 31 Ui Ugd ¥ QW @ U 2:38 aYl W ¥ oW @ 5:8,

G | A d

The sum of three numbers is 98. If the ratio of the first to second is 2 :3 and that of the second

to the third is 5 : 8, then the second number is:

(a) 20
(b) 30
(c) 48
(d) 58
Options :
1.a

2.b

3.c

4.d

Question Number : 71 Question Id : 7715134366 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal247

diF deet &1 Sig 98 31 U Ugd ¥ QW @ MU 2:3% aYl W ¥ dIER @ 5:8,
d TR T L gl

The sum of three numbers is 98. If the ratio of the first to second is 2 :3 and that of the second
to the third is 5 : 8, then the second number is:

(a) 20
(b) 30
(c) 48
(d) 58
Options :
1.a

2.b

3.c

4.d

Question Number : 72 Question Id : 7715134367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

fopt o 0 ¥ i €7

To which group does the figure belong?

Group A oo | O | B | A
0

Group B

= 00 =

o1 A9 B /Neither A nor B
e AN of the above

Options:

(a)
(b)
(©)
(d)

1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715134367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

fopt o 0 ¥ i €7

To which group does the figure belong?

Group A oo | O | B | A
0

Group B

= 00 =

o1 A9 B /Neither A nor B
e AN of the above

Options:

(a)
(b)
(©)
(d)

1.a
2.b
3.c
4.d

Question Number : 73 Question Id : 7715134368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal24

7

g o o o ¥ e &9

which group does the figure belong?

Group A

Group B

@ A
b) B

(c) T&ATB Neither Anor B
(d)  STHR A of the above

Options:
1.a
2.b
3.c
4.d

ROOROO
O# ¢ 0O

L] 0
(mOnCn

00 (CeoeD
o g & Ha EIIIO.BO oy
0 B, O|Rao @
0 000|0%0 ulm 20 w|l0q0
o ? aan O*BHOOH
. T Em'.u s0000e
8
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200 ot ¥ %o
200H”|M %o 0

" ]

GET IT ON
Google Play

Question Number : 73 Question Id : 7715134368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Addal24

7

g o o o ¥ e &9

which group does the figure belong?

Group A

Group B

@ A
b) B

(c) T&ATB Neither Anor B
(d)  STHR A of the above

Options:
1.a
2.b
3.c
4.d

ROOROO
O# ¢ 0O

L] 0
(mOnCn

00 (CeoeD
o g & Ha EIIIO.BO oy
0 B, O|Rao @
0 000|0%0 ulm 20 w|l0q0
o ? aan O*BHOOH
. T Em'.u s0000e
8

200 8|00 0
200 ot ¥ %o
200H”|M %o 0

" ]

GET IT ON
Google Play

Question Number : 74 Question Id : 7715134369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What does the question mark (?) represent?

onX

_@..

rolate 90° clockwise

A0

change shade

O W

10X~

replace firs! position wil

Aol

X

00X

h circle

OWlI

swap shade first and third position

(b)

(d)

Opt
1.a
2.b
3.c
4.d

0 OX

A O X

A @ <

@<

ions :

000~

001

GET IT ON
Google Play

Question Number : 74 Question Id : 7715134369 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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247

Ty 9% () T i &

What does the question mark (?) represent?

onX

_@..

rolate 90° clockwise

A0

change shade

O W

10X~

replace firs! position wil

Aol

X

00X

h circle

OWlI

swap shade first and third position

(b)

(d)

Opt
1.a
2.b
3.c
4.d

0 OX

A O X

A @ <

@<

ions :

000~

001

GET IT ON
Google Play

Question Number : 75 Question Id : 7715134370 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

-1 5 g *2’ I URAd e

Which one will replace the question mark 7

1 3
1 — —
2 2
c |8
3 ? 19
' 2
(a) 1/2
(b) 273
(c) 3/4
(d) 4/5
Options:
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

-1 5 g *2’ I URAd e

Which one will replace the question mark 7

| oo

w|ra | Pl

(a) 1/2
(b) 2/3
(c) 3/4
(d) 4/5
Options:
1.a
2.b
3.c
4.d

Descriptive
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Question Number : 76 Question Id : 7715134371 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

ot AT a1 87 ST & Y afti e et fafai dediel & fou ud R amg
URTa v U o R @) Fof @2 ) ey Sl el v ) U9 98 TRM ot
o T

What is Additive Manufacturing? Explain with applications. What is the degree of
surface finish and dimensional tolerances achievable for a) Direct Energy

Deposition and b) Powder Bed Fusion based additive manufacturing?

Question Number : 76 Question Id : 7715134371 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

o A a1 37 SFTgral o Y afti o1 Rgfofad fafmiur deiel & oy ord & g
UKt e U favita ST & FeA a1 €2 ) Ve S (eI U4 ) U9t 98 TRM AR
RS INERI

What is Additive Manufacturing? Explain with applications. What is the degree of
surface finish and dimensional tolerances achievable for a) Direct Energy

Deposition and b) Powder Bed Fusion based additive manufacturing?

Question Number : 77 Question Id : 7715134372 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

o gt e ) s T T €2 G o R e o St a2
Why machining of Super alloys are considered difficult? What are the different

methods to overcome the challenges?

Question Number : 77 Question Id : 7715134372 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

3 gt T ) s T O €2 S G 1 O e o Qe 2
Why machining of Super alloys are considered difficult? What are the different

methods to overcome the challenges?

Question Number : 78 Question Id : 7715134373 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
TR Hie Mg, el wa wist o aul i) fobeel i TR o i o T o
Explain alloys, compounds and composites with examples? Name any three

different types of composites?

Question Number : 78 Question Id : 7715134373 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
TR i e, AT T Wl o1 qul ) fog i T o i c T fere
Explain alloys, compounds and composites with examples? Name any three

different types of composites?

Question Number : 79 Question Id : 7715134374 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Te-Ie TR ARG 7 §7 TE-H1a- T 31 a1 fo 10 U fafdly <Rol. 1 @1 wfowrean
Td TP & felfgd B

What is Iron-Carbon equilibrium diagram? Draw the Iron-Carbon equilibrium

diagram and mark various phases, percentage of carbon and temperature.

Question Number : 79 Question Id : 7715134374 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Tl-PIa TR G ] &7 Tlig-1a G IV bl fo 10 U fafde Rl Prat @l vl
T A0 B fufgd 33
What is Iron-Carbon equilibrium diagram? Draw the [ron-Carbon equilibrium

diagram and mark various phases, percentage of carbon and temperature.

Question Number : 80 Question Id : 7715134375 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

TRl ¥ e e o qUi &% W fobg) AR (ot TR o e datedl o R A it
GUEEN

Explain strengthening mechanisms in alloys and brief any four different types of

strengthening mechanisms.

Question Number : 80 Question Id : 7715134375 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

el ¥ e AT o U % @ fobg) R (ot YR o et materdl o A it
UK
Explain strengthening mechanisms in alloys and brief any four different types of

strengthening mechanisms.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap



